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The question paper is divided into three

sections. Attempt questions as per direction.
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SECTION - A

pjective Typé Questions) 10”1:19
(O

Choose the correct option.

aking @ pivot in the simplex method indicates
Makin

the appropriate
(a) Zj-Cyrow
(b) Optimal column
(c) Quantity column
(d) None of these

For a maximization problem, the objective

function coefficient for an artificial ariable is :
(@ +M

b) -M

(c) Zero

(d) None of these
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If an optimal solution is degenrate, then
(a) There are alternative aptimal aolution

(b) The solution is infeasible

(c) The solution is of no use to the dacialon

maker
(d) None of these
If a dual problem has an unbounded solution,
primal has :
(a) No feasible solution
(b) Unbounded solution

(c) Feasible solution

(d) None of these

Branch and bound method divides the feasible

solution space into smaller parts by :
(a) Branching

(b) Bounding

[P.T.O.
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(c) Enumerating

(d) Allof the above

transport problem, degeneracy is s

when the number of all

Wh "
en there are "m TOWs and

n"

ocations js -

(@) Less than m+n-1

(b) Greater than m+n-1

() Equalto m+n-1

(d) Lessthan m-n+1

timeis -

(a)
(b)
(©
(d)

Total fioat
Free float

Independent fioat

All of the abova
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8. The critical path satisfy the condition that :
(@) E =L andE =L,
(b) L-E=L-L
(© L-E=L-E=C
(d) All of the above

9. If there were "n" workers and "n" jobs, there would

be:

(a) |nsolutions

(b) [n-1solutions

() (ln)" solutions

(d) n solutions

10. If the earliest start time for an activity is 8 weeks,
the latest finish time is 37 weeks and the duration

time of the activity is 11 weeks, then the total float

is equalto:
[P.T.O.
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Note :

cﬂc-" ‘95"”

(a) 18WeeKS

) 14 weeks
c) 56 weeks
(d) 40weeks:

SECTION - B

(Short Answer Type Questions) 4x5=20

Attempt any four questions. Each question

carries five marks.
search?

Why industry is demanding operation Re

] ically :
Solve the linear programming problem graphically

Max. Z = 8000, +7000%;

Subjected (o
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4./ Write algorithm to find the solution of an integer
programming problem by Gomory's cutting plane

method.

4. Solve the minimal assignment problem whose

effectiveness matrix is :

1
2
N4
7
3

anmum
wlolo &
&‘quh

5. Explain North-West lorner method.

6. What are the various review techniques?
SECTION -C
(Long Answer Type Questions) 3x10=30

Note : Attempt any three questions. Each question

carries ten marks.
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kind of maodelling in operations

Discuss various

research.
ramming problem by two-phase

Solve the linear prog
method.

Minimize £=X %%

Subjecred io consiraints
2x, +x; 2 4

m_rd X X, 20' /

3. Find the: optimum integer solution to the linear

programming problem :

Subjecred 2x, <7

.r,+,r3£7

2x <11
x 20, x,20andx;, x,are integer
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From following table construct PERT and compute .

i TgandT, 5. Find the optimal solution of following transportation
(i) Float of each activity problem :
(iii} ~ Critical path and its duration. W W, W, W, W W
Activity Time in weeks P31 713]815]3
12 F15|16(12(5|7 |114
) 4 ri2lt1]3]4]8]2]2
1-3 1. Fl9]6[{10[5]|10]9 |8
2.4 1 Requirement 3 3 6 2 1 2
3-4 1
bs .. .
4-9 5
5'6 4
s )
6-8 1
7-
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